

	VERIFY.F165.05 Date: September 25, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination Country China			Destination Port TianjinXingang		
Consignee	Export Date 2024-09-20	Export Date 2024-09-20		rrier		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permi N/A	t Number	Bill of Lading / AWB 401410483057			
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	Agent		
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1554b Total: 666.9					
Description (May include notes on Quantity, Item Number, Marks and Number	rs. Kind of Package	·s.)	Weight	Country of Origin		
Alfalfa Hay			22.362mt	United States		
Marks: TGCU5397878 52bales						
Alfalfa Hay			21.718mt	United States		
Marks: EGHU9350276 52bales						
Alfalfa Hay Marks: TCLU8898677 52bales			21.101mt	United States		
Alfalfa Hay Marks: TXGU5569261 52bales			22.607mt	United States		
Alfalfa Hay Marks: EITU1454608 52bales			21.954mt	United States		
Alfalfa Hay Marks: EGSU9477412 51bales			22.272mt	United States		
Alfalfa Hay Marks: EMCU8606780 52bales			21.818mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods origi applicable in the country(les) to the -The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the GIC's issue 	inate in the country(ies) speci ose goods. and in any documents provid- the GIC and any other person(s cate is provided to with the kn- nge in such information, or in resent upon request, such do of this certificate and accomp ance of this Certificate, the A connection with the issuance or made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



	VERIFY.FIGS.US Date: September 25, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Typ Vessel	pe		Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination Country China Export Date 2024-09-20			Destination Port TianjinXingang		
Consignee			Exporting Ca N/A	arrier		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permi N/A	t Number	Bill of Lading / AWB 401410483057			
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding / N/A	Agent		
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1554b Total: 666.99					
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs. Kind of Package	s.)	Weight	Country of Origin		
Alfalfa Hay			22.308mt	United States		
Marks: EGHU8468346 52bales						
Alfalfa Hay			21.691mt	United States		
Marks: TRHU7133827 52bales						
Alfalfa Hay			21.9mt	United States		
Marks: EMCU8527000 52bales						
Alfalfa Hay			22.281mt	United States		
Marks: TCNU2292329 52bales						
Alfalfa Hay			21.963mt	United States		
Marks: EGSU9442442 52bales						
Alfalfa Hay			21.156mt	United States		
Marks: EMCU1581988 52bales			04 400-54			
Alfalfa Hay Marks: EMCU8493430 52bales			21.482mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(ies) to ti -The information in this certificate accurate, true and complete. The Applicant undertakes to advi Certificate (or to whom the Certifi of any inaccuracy, omission or ch -The Applicant will maintain, and truth, accuracy and completeness -In consideration for the GICS issi 	ginate in the country(ies) speci rose goods. e and in any documents provid se GIC and any other person(s cate is provided to with the kn ange in such information, or in present upon request, such do of this certificate and accom Jance of this Certificate, the A connection with the issuance is made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



TO VALIDATE, GO TO Certificate Number : GI-COO-52105-66f46a9d6a1e9 Date : September 25, 2024 VERIFY.FTGS.US

	VERIF I.F 103.03 Date : September 25, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination Country China		X / / /// / / XXXX/ ////	Destination Port TianjinXingang		
Consignee	Export Date 2024-09-20		Exporting Ca N/A	Exporting Carrier N/A		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permi N/A	t Number		Bill of Lading / AWB 401410483057		
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	Agent		
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1554b Total: 666.99					
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs. Kind of Package	(20	Weight	Country of Origin		
Alfalfa Hay			22.272mt	United States		
Marks: TGBU6940728 52bales						
Alfalfa Hay Marks: EGSU9210914 52bales			20.684mt	United States		
Alfalfa Hay Marks: TCNU6639756 52bales			22.38mt	United States		
Alfalfa Hay Marks: EISU8514876 52bales			21.89mt	United States		
Alfalfa Hay Marks: TCNU2135504 52bales			22.952mt	United States		
Alfalfa Hay Marks: EITU1935516 51bales			22.526mt	United States		
Alfalfa Hay Marks: TIIU4323027 52bales			22.834mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods origit applicable in the country(les) to the -The information in this certificate accurate, true and complete. The Applicant undertakes to advisic Certificate (or to whom the Certific of any inaccuracy, omission or chain -The Applicant will maintain, and pit truth, accuracy and completeness -In consideration for the GIC's issue 	inate in the country(ies) speci ose goods. and in any documents provide are GIC and any other person(s) are is provided to with the kn nge in such information, or in resent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap connection with the issuance of made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		



Authorized Signature Farhad Ghorbani Fard

CERTIFICATE OF ORIGIN ORIGINAL

	VERIF1.F103.05 Date: September 25, 2024					
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel Destination Country China Export Date 2024-09-20 Import Permit Number N/A		Port of Loading LOS ANGELES			
43 Corporate Park Irvine CA USA			/ X / / L/ X / X X X X X / X / /	Destination Port TianjinXingang		
Consignee			Exporting Ca N/A	rrier		
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,			Bill of Lading 401410483			
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Agen N/A	t	Forwarding A N/A	Agent		
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1554ba Total: 666.957					
Description (May include notes on Quantity, Item Number, Marks and Numbe	ers, Kind of Packages.)	Weight	Country of Origin		
Alfalfa Hay Marks: EGHU9241573 52bales			22.399mt	United States		
Alfalfa Hay Marks: DFSU6911179 51bales Alfalfa Hay			22.48mt 23.115mt	United States United States		
Marks: TRHU5454598 52bales Alfalfa Hay Marks: EGHU9218573 52bales			22.97mt	United States		
Alfalfa Hay Marks: EITU1364248 52bales			22.589mt	United States		
Alfalfa Hay Marks: EITU1149456 50bales			22.335mt	United States		
Alfalfa Hay Marks: TGCU5400420 52bales			23.151mt	United States		
Name of Authorized Trade Association		 The above-mentioned goods orig applicable in the country(les) to th The information in this certificate accurate, true and complete. The Applicant undertakes to advis Certificate (or to whom the Certifii of any inaccuracy, omission or che The Applicant will maintain, and p truth, accuracy and completeness In consideration for the GIC's issu 	jinate in the country(ies) speci lose goods. and in any documents provide se GIC and any other person(s cate is provided to with the kn ange in such information, or in or this certificate and accomp uance of this Certificate, the A connection with the issuance s made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hol of this certificate and to indemnify GIC in tion herewith.		



Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Typ Vessel	De	Port of Loadin LOS ANGEL		
Irvine CA USA	Destination C China	country		Destination Port TianjinXingang	
Consignee	Export Date 2024-09-20		Exporting Carr N/A	ier	
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110	Import Permi N/A	t Number	Bill of Lading , 4014104830	of Lading / AWB 1410483057	
China	Owner or Agent N/A N/A				
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1554b Total: 666.9				
Description (May include notes on Quantity, Item Number, Marks and Numbers,	Kind of Package	s.)	Weight	Country of Origin	
Alfalfa Hay Marks: EITU1637379 51bales			22.87mt	United States	
Alfalfa Hay			22.897mt	United States	
Marks: CAAU6007763 52bales					
======end of products========					
Name of Authorized Trade Association		applicable in the country(ies) to the -The information in this certificate is accurate, true and complete. -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chan- The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the GIC's issue	nate in the country(ies) specifie se goods. and in any documents provided a GIC and any other person(s) t ate is provided to with the know nge in such information, or in th esent upon request, such docu of this certificate and accompa nuce of this Certificate, the App ponnection with the issuance of made against GIC in connectio	d above and comply with the rules of origin to the Greater Irvine Chamber ("GIC") is o whom the applicant provides this ledge of the Applicant) promptly in writing e origin of goods. mentation as is necessary to verify the nying documents. licant agrees to release, discharge and hold this certificate and to indemnify GIC in n herewith.	

Price Terms:

CIF

Invoice Metric

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

Invoice No. SD-202409020 **COMMERCIAL INVOICE** Date: 9/5/24 Shipper/Exporter: **Consignee:** Healthy Green Life Corp INNER MONGOLIA SHENGDEHETAI TRADING CO., LTD 1152 S Roughcut Dr Station 3E-028, Casa Grande, AZ 85194, USA Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia Vessel: EVER FAME **Contract No.:** SDHT-HGLC2024-8 Voyage No.: 1365-020W **Booking No.:** 401410483057 Shipping Line: Country of Origin: USA Evergreen Port of Loading: LOS ANGELES, CA **Discharge:** TianjinXingang, China ETD: 9/20/24 ETA: 10/19/24

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
CAAU6007763	A1530010	Alfalfa Supremi	52	22.897	\$390.00	\$8,929.83
DFSU6911179	A1528331	Alfalfa Supremi	51	22.480	\$390.00	\$8,767.20
EGHU8468346	A1528314	Alfalfa Supremi	52	22.308	\$390.00	\$8,700.12
EGHU9218573	A1528429	Alfalfa Supremi	52	22.970	\$390.00	\$8,958.30
EGHU9241573	A1528332	Alfalfa Supremi	52	22.399	\$390.00	\$8,735.61
EGHU9350276	A1528256	Alfalfa Supremi	52	21.718	\$390.00	\$8,470.02
EGSU9210914	A1528262	Alfalfa Supremi	52	20.684	\$390.00	\$8,066.76
EGSU9442442	A1528265	Alfalfa Supremi	52	21.963	\$390.00	\$8,565.57
EGSU9477412	A1528315	Alfalfa Supremi	51	22.272	\$390.00	\$8,686.08
EISU8514876	A1528340	Alfalfa Supremi	52	21.890	\$390.00	\$8,537.10
EITU1149456	A1528425	Alfalfa Supremi	50	22.335	\$390.00	\$8,710.65
EITU1364248	A1528427	Alfalfa Supremi	52	22.589	\$390.00	\$8,809.71
EITU1454608	A1528316	Alfalfa Supremi	52	21.954	\$390.00	\$8,562.06
EITU1637379	A1528421	Alfalfa Supremi	51	22.870	\$390.00	\$8,919.30
EITU1935516	A1528334	Alfalfa Supremi	51	22.526	\$390.00	\$8,785.14
EMCU1581988	A1528266	Alfalfa Supremi	52	21.156	\$390.00	\$8,250.84
EMCU8493430	A1528264	Alfalfa Supremi	52	21.482	\$390.00	\$8,377.98
EMCU8527000	A1528312	Alfalfa Supremi	52	21.900	\$390.00	\$8,541.00
EMCU8606780	A1528319	Alfalfa Supremi	52	21.818	\$390.00	\$8,509.02
TCLU8898677	A1528255	Alfalfa Supremi	52	21.101	\$390.00	\$8,229.39
TCNU2135504	A1528338	Alfalfa Supremi	52	22.952	\$390.00	\$8,951.28
TCNU2292329	A1528267	Alfalfa Supremi	52	22.281	\$390.00	\$8,689.59
TCNU6639756	A1528261	Alfalfa Supremi	52	22.380	\$390.00	\$8,728.20
TGBU6940728	A1528263	Alfalfa Supremi	52	22.272	\$390.00	\$8,686.08
JGCU5397878	1528257	Alfalfa Supremi	52	22.362	\$390.00	\$8,721.18

https://www.haycloud.com/Popups/popReport.aspx?reportid=4217&ran=68930

9/25/24, 11:24 AM				Invoice Metric		
TGCU5400420	A1528423	Alfalfa Supremi	52	23.151	\$390.00	\$9,028.89
TIIU4323027	A1528333	Alfalfa Supremi	52	22.834	\$390.00	\$8,905.26
TRHU5454598	A1528430	Alfalfa Supremi	52	23.115	\$390.00	\$9,014.85
TRHU7133827	A1528313	Alfalfa Supremi	52	21.691	\$390.00	\$8,459.49
TXGU5569261	A1528254	Alfalfa Supremi	52	22.607	\$390.00	\$8,816.73
Total Value:			1,554	666.957		\$260,113.23

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



